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public class Testa {
public static void main(String[ ] args) {
int[]la={1, 2, 3, 4};
swap( a );
System.out.printin("a [0] =" +a [0]);
}
public static void swap(int [ ] data) {
int temp = data[0];
data[0] = data [ data.length — 1 ];
data [ data.length — 1 ] = temp;
}
}
@public class Testb{
public static void main(String[ ] args) {
Tt=new T ();
swap(t);
System.out.printin("el="+tel+", e2="+1t.e2);
}
public static void swap(Tt) {
int temp = t.el;
t.el =t.e2;
t.e2 = temp;
}
}
class T {
intel=1;
inte2=2:
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(=public class Testb{
public static void main(String[ ] args) {
Tt=newT ();
swap( t.el, t.e2);
System.out.printin("el="+tel+", e2="+1t.e2);

¥
public static void swap(intel, inte2) {
int temp = el;
el =e2;
e2 = temp;
}
¥
class T {
intel=1;
inte2 =2;
¥
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# b - 345 7 95 4 19 4 3 45 7 9 19
# b = 1288 5 7 23 4 128 5 7 23 4




